GIẢI BÀI TẬP LỚP 5: BÀI 1 TRANG 169 SÁCH GIÁO KHOA

Bài 1. Viết số đo thích hợp vào ô trống:

a)

	Hình lập phương
	(1)
	(2)

	Độ dài cạnh
	12cm
	3,5m

	Sxung quanh
	
	

	Stoàn phần
	
	

	Thể tích
	
	


b)

	Hình lập phương
	(1)
	(2)

	Chiều cao
	5cm
	0,6m

	Chiều dài
	8cm
	1,2m

	Chiều rộng
	6cm
	0,5m

	Sxung quanh
	
	

	Stoàn phần
	
	

	Thể tích
	
	


Đáp án
a)

	Hình lập phương
	(1)
	(2)

	Độ dài cạnh
	12cm
	3,5m

	Sxung quanh
	576cm²
	49m²

	Stoàn phần
	864cm²
	73,5m²

	Thể tích
	1728cm³
	42,875m³


b)

	Hình lập phương
	(1)
	(2)

	Chiều cao
	5cm
	0,6m

	Chiều dài
	8cm
	1,2m

	Chiều rộng
	6cm
	0,5m

	Sxung quanh
	140cm²
	2,04m²

	Stoàn phần
	236cm²
	3,24m²

	Thể tích
	240cm³
	0,36m³
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